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Breakout 1
den 1 december 2020

\0) %&(Z\A\l\c’\

@) Skcv N
2= 30350 (3 -3303)
?% goltre %06% O0cw S\keiu S\JM ?(3 %OC\MQ/—- ><+}~—K
LU(\)S‘(\‘\\A%:
S T e CP
335\ - 4 - Jj\
Z = 6 - (’6“" /-—62‘> C, ( N 2
b g,—;(_<?s_sT'L§’lw®§ y é:; _o&_c—&cig_ﬁ’?—
— K
- 6 c = ( (COS-:?-B; —‘ct5tv~2§>
T 6 ~ W =6 ~v JC-
h) 27 = (L e }> =t e 7 [f‘—%saw%
B -~ A 17 -1
6 (2w ‘
~\ (25w B 16~ (2 T X T
BRI e S (F g 2T T L) :(;}e’eﬂaxu%
16 ~\T ~ X 35 ST ST .o
= . : ER - _ & = (O (-T) +1 Sin (- = -
e e T [ fpj*g“"ﬂ 1
> == ==t =o
A6 5 \
T [
=~6.L3~1353> 6 =6 G
":l . A o \J"—
[G % =~ I 1%1
¥y
[C = CoS2W xS 2UW :11
gl ‘

—

= | =

[e-'\‘L\«T _ \l



Breakout 2

den 1december 2020 09:50
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Uppgift 2
den 1 december 2020
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Uppsgift 3
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